Equilibrium 7 - CHEM 220 -

Directions: For questions 1-3, indicate whether and ICE or NICE table is most appropriate and
set up the table. You need not calculate the equilibrium concentrations. For other questlons

answer the question posed.

1.

For the reaction below, at 250 K, Kp=3.0 x 107,
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2. For the reaction below, at 350 K, Kc=2.2 x 10°.
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3. For the reaction below, at 350 K, Kc=2.2 x 10°
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4. For the reaction below, at 600 K, Kp is not known. The initial mixture of reactants and
products is given. At equilibrium, Pyt = 2.00 atm. Calculate Kp at 600 K
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